Math 1432 Sequences & Series Worksheet
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5. Determine if the sequence {a,} converges when a, =
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9. Determine if the infinite series 2 ln(
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11. Find the rational representation of the repeating decimal 1 .83838383... using series.
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16. When applying the root test to an infinite series Za we find the value of lim|a, [""=p.
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17. When applying the root test to an infinite series Zan , we find the value of lim|a, ["=p.
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20. Use the 1ntegral test to determine if 2—@or diverges.
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23. Determine if the following series converge abso utely converge conditionally or diverge:
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24. Which of the following statements are true:
T a If0< a,<b, and an diverges, then Zan diverges.

‘: b. If lim a.n =0 then Zan converges.
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25. Determine the radius and interval of convergence for the following:
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26. If the series chx” converges when x =-3 and diverges when x =5. Which of the?
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